

TOGETHER FOREVER

SANANI DABO D B  
ELECT / ELEC 13 / EN5404 b5b

$$\textcircled{1} \frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 5y = 6 \sin \theta$$

$$m^2 + 4m + 5 = 0$$

$$m = -2 \pm j$$

$$\text{PF } y = (C \cos \theta + D \sin \theta)$$

$$\frac{dy}{dx} = -C \sin \theta + D \cos \theta$$

$$\frac{d^2y}{dx^2} = -C \cos \theta - D \sin \theta$$

$$-C \cos \theta - D \sin \theta - 4C \sin \theta + 4D \cos \theta + 5C \cos \theta +$$

$$5D \sin \theta = 6 \sin \theta$$

$$8 \sin \theta = -D - 4C + 5D = 6$$

$$4C + 4D = 6 \cos \theta = 0$$

Sum

$$4D - 4C = 6 \quad \text{--- (1)}$$

$$4C + 4D = 0 \quad \text{--- (2)}$$

$$\text{---} \\ -8C = 6$$

$$\therefore C = \frac{-6}{8} = -\frac{3}{4}$$

from eqn (1)

$$4 \left(-\frac{3}{4}\right) + 4D = 6$$

Taqeeq & Raliat

18th April 2015

Courtesy: WATERGATE MARINE SERVICES LTD



$$\frac{-3}{-3} = \frac{+p}{+3}$$

$$\therefore \theta = 3/p$$

$$y = -3/p \cos \theta + 3/p \sin \theta$$

$$y = 3/p \sin \theta - 3/p \cos \theta$$

$$QS = e^{-pt} (A \cos \theta + B \sin \theta) + 3/p \sin \theta - 3/p \cos \theta$$

$$= 3/p (\sin \theta - \cos \theta)$$

$$\text{for } \theta = 0^\circ \text{ to } 270^\circ$$

$$\frac{dy}{dt} = 3/p \sin \theta - 3/p \cos \theta$$

$$= 3/p \cos \theta + 3/p \sin \theta$$

of steady state

$$\frac{dy}{dt} = 0 \quad \text{and } \theta = \infty$$

$$0 = 3/p (\cos \theta + \sin \theta)$$

$$-\cos \theta = +\sin \theta$$

Divide both sides by

$$\frac{-\cos \theta}{\cos \theta} = \frac{\sin \theta}{\cos \theta}$$

$$\tan \theta = +$$

$$\theta = \tan^{-1}(1)$$

$$\theta = 45^\circ$$

Company Cost

$$x^2 : 24 \epsilon F C = w$$

$$F = \frac{w}{24 \epsilon}$$

$$x: 12 \Delta \epsilon C = -2wL$$

$$D = \frac{-2wL}{12 \epsilon F}$$

$$\text{Constant: } 4C \epsilon L = wL^2$$

$$C = \frac{wL^2}{4 \epsilon F}$$

putting back to Original eqn

$$y = \frac{wL^3}{4 \epsilon F} x^2 - \frac{3wL}{12 \epsilon F} x^3 + \frac{w}{24 \epsilon F} x^4$$

The general form

$$y = Cx + P_1$$

$$= A + Bx + \frac{wL^3}{4 \epsilon F} x^2 - \frac{3wL}{12 \epsilon F} x^3 + \frac{w}{24 \epsilon F} x^4$$

$$\frac{dy}{dx} = B + \frac{2wL^3}{4 \epsilon F} x - \frac{6wL}{12 \epsilon F} x^2 + \frac{4w}{24 \epsilon F} x^3$$

at  $y=0$  and  $x=0$

$$y = A + Bx + \frac{wL^3}{4 \epsilon F} x^2 - \frac{3wL}{12 \epsilon F} x^3 + \frac{2wL^3}{24 \epsilon F} x^4$$

$$\text{at } 0 = A, A = 0$$

$$\text{at } \frac{dy}{dx} = 0 \text{ and } x \neq 0$$

$$0 = B + \frac{2wL^3}{4 \epsilon F} x - \frac{6wL}{12 \epsilon F} x^2 + \frac{4w}{24 \epsilon F} x^3$$

$$0 = B + \frac{\omega l^2}{2EI} x^2 - \frac{\omega l}{2EI} x^3 + \frac{\omega}{3EI} x^3$$

if  $B = 0$

General equation will be

$$y = \frac{\omega l^2}{4EI} x^2 - \frac{2\omega l}{6EI} x^3 + \frac{\omega}{24EI} x^4$$

$$y = \frac{\omega l^2}{4EI} x^2 - \frac{\omega l}{6EI} x^3 + \frac{\omega}{24EI} x^4$$

at  $x = l$

$$y = \frac{\omega l^4}{4EI} - \frac{\omega l^4}{6EI} + \frac{\omega l^4}{24EI}$$

$$y = \frac{6\omega l^4 - 4\omega l^4 + \omega l^4}{24EI}$$

$$y = \frac{\omega l^4}{8EI}$$

$$(2) \quad EI \frac{d^2 y}{dx^2} = \frac{w}{2} (L-x^2)^2$$

C.F

Auxiliary Eq<sup>n</sup>

$$m^2 = 0$$

$$m = 0 = \pm 0$$

$$\therefore y = e^0 (A + Bx)$$

$$y = 1 (A + Bx)$$

$$= A + Bx$$

$\frac{dy}{dx}$  :

$$y = Cx^2 + Dx^3 + Ex^4$$

$$\frac{dy}{dx} = 2Cx + 3Dx^2 + 4Ex^3$$

$$\frac{d^2 y}{dx^2} = 2C + 6Dx + 12Ex^2$$

$$EI (2C + 6Dx + 12Ex^2) = \frac{10}{2} (L-x)^2$$

$$2 (EI C + 6DEI x + 12E^2 I x^2) = \frac{10}{2} (L-x)^2$$